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Exponential functions
Exponential growth: 
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(k > 0)
Exponential decay:
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(k > 0)
	Typical exponential growth question:
The value of y increases exponentially with x.  Find the missing values in the table.
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Exponential functions have the property that as the first variable goes up in equal steps, the 2nd variable gets multiplied by the same amount each time.
Here the rule is:  as x goes up in steps of 50, y gets multiplied by 2. 

Writing out a more detailed table:
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So, P = 120  and Q = 250.
	Logarithmic functions:
The inverse of the exponential function is the natural logarithm.  To get the graph of 
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, we reflect the graph of 
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 in the line y = x.
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	Differentiation results:
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	Integration results:
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	Properties of logarithms:
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	Solving equations:

Typical question:  Find the least integer value of n such that 
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Solution:  
Take logs of both sides:
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Use power property of logs:  
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Divide by ln(5):  
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Solve for n:  n > 21.03. 

So,  n = 22  (least possible integer).
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